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The length of 3 identicd pencils is 95 em.
What is the length of | of the pencils?

What is the length of 2 of the pencils?

cm

Some doughnuts are shared between boxes.
There are 6 doughnuts in each box.

There is | doughnut left over.

Circle how many doughnuts there could be.

65 66 67 68

Explain your answer.
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4.

| 696 pens are packed into boxes of 3
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How many boxes are there?

Work out

126 + 3 = . B675+5=

Complete the missing number.
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Circle how confident you feel with division.
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7. Work out the following multiplications.

36 X8=

A5 X 7 =

8. ) Tina has £2,000
She buys B new paintings.
Each painting costs £259
How much money does she have left?

O Workout5 X797 X2 =

Show or explain your method.

10.

2 marks

11.

2 marks

Complete the missing numbers.
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A small bag of sweets contains IS sweets.
A large bag of sweets contains 7 times as
many as the small bag.
Max buys B bags of each.
How many sweets does he buy in totdl?
sweets E—

Circle how confident you feel with multiplication.

I 2 3 4 2
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